Efficiency vs P,

T
O
U

I
IS
a1

efmciency vs p
I
iy

0.35

o
w

Ratio
N
T
+ [
—— [
I T e S

— 3
107 1 10 1182!% (Ge\}P

—=— DQM_original_1000evt
—e— DQM_fitted4_1000evt

= 0.2
20.18:— : . . . .
§0.16:—+ ------ -------- P PETEEEEE
Q o : :
£20.14
=

©0.12

00
i
al #+

0.08F -+
0.06F T4t
R
0.02fF - rheeeede o

Ratio

Efficiency vs @

s 0.1
20.09E
30 nab:
50.08F ;
© = : : : d : :
o mcl R U N (R Al A o A L R . TR P R
20.07E
q) v
0.06(%
0.05F---

0.04F ;

0.03E :

0.02F :
0 R SRS FRTRES PR
o L L i
o ! : - :
5 TR ]
© I1: Py 1 g 211
ko IT7-4-- .-o-'?' 2k 41 {2
08351 0 1 2 3




	Contents
	Page 1


